F/o Socwa Seieres
00031

Set No. : 1 Question Booklet No.
RET/15/TEST-B 6 953 Psychology

(1o be filled up by the can® )y blue/black ball point pen)

Roll No.

Roll No. (Write the digits in WOrds) ...

Serial No. of OMR Answer Sheet ..o
Day and Date ...
( Signature of Invigilator )

INSTRUCTIONS TO CANDIDATES

(Use only blue/black ball-point pen in the space above and on both sides of the Answer Sheet)

L. Within 10 minutes of the issue of the Question Booklet, Please ensurc that vou have got the correct
booklet and it contains all the pages in correct sequence and no page/question is missing. In case of faulty
Question Booklet, Bring it o the notice of the Superintendent/Invigilators immediately to obtain a fesh
Question Boaoklet.

2. Do not bring any loose paper, written or blank, inside the Examination Hall except the Admit Card
witlrout its envelope.

3. A separate Answer Sheet is given. It should not be Jolded or mutilated. A second Answer Sheet
shall not be provided.

4. Write your Roll Number and Serial Nurber of the Answer Sheet by pen m the space provided aboye.

5. On the front page of the Answer Sheet, write by pen your Roll Number in the space provided at the

1op, and by darkening the circles af the bottom. Alse, wherever applicable, write the Question
Booklet Number and the Set Number in appropriate places.
6. No overwriting is alfowed in the entries of Roll No., Question Booklet No. and Set No. (if any) on
OMR sheet and Roll No. and OMR sheet no. on the Question Booklet,
7. Any change in the aforesaid entrics is 10 be verified by the invigilator, otherwise it will be taken as
unfair means.
This Bookiet contains 40 multiple choice questions Sollowed by 10 short answer questions, For
cach MCQ, you are to record the correct option on the Answer Sheet by darkening the appropriate
circle in the corresponding row of the Answer Sheet, by pen as mentioned in the guideliney given
on the first page of the Answer Sheet. For answering any five short Answer Questions yse
Blank pages attached ar the end of this Question Booklet. e
9. For each question. darken only one circle on the Answer Sheet. If you darken m
darken a circle partially. the answer will be treated as incorrect.
10, Note that the answer once Silled in ink cannot b

o

ore than one cirele or

e changed. If you do not wish, 4,
’ . . ) attem 7
cave all the circles in the corresponding row blank (such question will be P! a question,

: : awarded -
L1. For rough work, use the inner back pages of the title cover and the blank page at the end erm arks).
[¢]

LZ. Deposit both OMR Answer Sheer and Question Booklet at the end of the lexy this B 00Klet,

13. You are not permitted 1o leave the Examrmation Hall untif the end of the eyt -

14. if a candidate attempts to use any form of unfair means, he/she sh
{/niversity may determine and impose on liim/her.

Total No. of Printed Pages : 24

all be liable 1 such pyn:
0 Ptlmshmenr
as the



RET/15/TEST-B " 953/Psycholo
v x{\ “\ Y &%
. . i h ﬁ-‘?}
ROUGH’-.,WEBK .



No. of Questions ;: 50
gs=l @ d@EEr ;50

Time : 2 Hours Full Marks : 200
g 2 go Ui : 200
Note: (1) This Question Booklet contains 40 Multiple Choice Questions

(2)

(3)

followed by 10 Short Answer Questions.

sﬁﬂaqgfkﬁﬁrﬁima@ﬁrqamagac—dﬁaaﬁ%i

Attempt as many MCQs as you can. Each MCQ carries 3 (Three)
marks. 1 (One) mark will be deducted for each incorrect answer,
Zere mark will be awarded for each unattempted question. If
more than one alternative answers of MCQs seem to be
approximate to the correct answer, choosc the closest one.

aﬁ%ﬁma@ﬁwqﬁﬁﬁwmwmﬁ:ma@ﬁq
Hﬁqs(eﬁq)aiaﬁa;r%lmwwa‘am 1 (T%) 375

mmlmaﬁﬁansqwm{mﬁm:aﬁ

Answer only 5 Short Answer Questions. Each question carriea
16 (Sixteen) marks and should bLe answered in 150-200 words.

%aas(q‘i'a)agﬁﬁ‘ﬁqmﬁ$3ﬁ{a‘imnﬂ 16 (¥irere)
aﬁm%wmmlsamo%’r%aﬁaaﬁrm@m
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01.

02.

03.

04.

Who gave the concept of Tabic Revolution in India ?

(1) M.K. Gandhi (2) Vinoba Bhave

(3) Jayaprakash Narayan (4) Ram Manohar Lohia

R F geyel wHifg @ R e far ?

(1) warear el (2) fasem 9@

(3) STIMRIN AR (4) T HARBY Al

When the demand curve is vertical it represents :

(1) Perfectly elastic demand (2) Highly elastic demand

(3) Highly inelastic demand (4) Perfectly inelastic demand

— ?ﬂ_azﬂ-a;ﬁq?:arﬁiﬁw%

(1) goia: Q=) =/ (2) STl dreEr w1
(3) orftreR SrerEr HIT (4) gota: A=EREI HET
Which Governor General prohibited the ‘Sati System’ in India ?
(1) Lord Lytton (2) Lord Dalhousie

(3) Lord William Bentinck (4) Lord Ripan

PhA TRRTE STl 9 s # ) s ol s Bear 2
(1) e fere (2) S AU

KEESISRE N ER I DL (1) «irg Ro=

Who Is Cﬂ“ffd the father of Indian Renaissance ?
(1) Raja Ram Mohan Ray (2) Swami Dayanand Saraswatl
(3) Swami Vivekanand (4) Henry Vivian Derozio

mvﬁmgﬂhﬁqmmmwm%?

(1) < A e (2) T T HIERI
l3] ﬁf‘ﬂ ﬁﬁmﬁ (4) %:l'ﬁ farte



RET/15/TEST-B 953 /Psychology

05.

06.

07.

08.

Who gave the theory of separation of Powers ?

(1) St. Augustine (2) J.8. Mill

(3) John Locke (4) Montesquieu

AT geniepoT & e fras Rar ?

(1) E§d 37ed (2) Jo THo =

(3) i< &h (4) HREY

Who wrote the book 'Hind Swaraj' ?

(1) J.L. Nehru (2) Maulana Abul Kalam Azad
(3) M.K. Gandhi (4) Subhas Chandra Bose
o @ gead &A@ P o ?

(1) ST @ J6s (2) AR I FHAH AR
(3) TET =7F H{H=T ATy (4) g9 o= &g

Dyarchy was introduced in India by which one of the following Acts ?
(1} Indian Councils Act. 1909

(2) Government of India Act. 1919

(3) Government of India Act. 1935

(4) Indian Councils Act. 1892
#q;ﬁa??ﬁmmﬁwﬁr@aﬁéﬁm%aﬁmmm%m
(1) wa Sifas sifafEm, 1909

(2) ARG @R H siafEH, 1919

(8) ARG AR @ afefgs, 1935
(4) YR FHifgew STYEH, 1892

Who of the following was not associated with Swaraj Party ?
(1) Motilal Nehru (2) C.R.Das

(3) Vetthal Bhai Pate] (4) Vallabh Bhai Patel
PRI & & AN @RS et @ gt o1 °r ?

(1) A A8E (2) HodRogry

(@) fagerag 9 () aww o g

P.T.0.
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09. Whose name is associated with Drain theory of Wealth ?

10.

11,

(1) Dadabhai Naoroji (2) Ferozeshah Mehta
(3) Rajni P. Dutt (4) V.D. Savarkar
‘Wﬁr%ﬁﬂh%@%’%%ﬂwww% ?

(1) ==1 92 Fsh (2) TSI HEar
(3) T oUW T (4) dodlo TETHT

Marginal utility is equal to :

(I) Table utility minus average utility

(2) Addition to table utility

(3] Takle utility divided by number of utility consumed
(4) Total utility plus average utility.

A SUEIFTET S @

(1) T 3TAfar T Sl Sudian

(2) FHw IuFF@r 7 gie

(3) T SYAINTCA AFT YT &l g TEGSHT B HEAT
(4) B IGAET A ST FUATT

Fiedler defines the degree of confidence, trust, and respect that sub-
ordinates have in their leader as :

(1) Leader-member relations (2) Task structure

(3) Positional power (4) Path-goal frameworks

Rreere 3 orfaearE @ @R, faeawm, ol EEE St apfeEe
T o9 AT § @A ¥ B ohET o

(1) dar-aeE wE (2) W HEA
(3) qedeTa QiR (4) & UE B
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12,

13.

14,

Which of the following statements about the product moment corre-
lation coefficient is false ?
(1) Itis a measure of linear relationship between two variable

(2) It can be calculated by scaling the covariance between two vari-
ables.

(3) A correlation coefficient of zero means that the two variable are
independent

(4) It always ranges from -1 tg +1
WWWﬂW%aﬁﬁﬁﬁﬁﬁﬁ?WWWﬂ

(1) ﬂ%ﬁﬂ‘ﬁ@??@qﬂ'ﬁ‘*ﬂﬂ%m%l

(2) g%ﬁ%?@a%ﬁmw@%m%msﬂaﬁmaﬁm
(3) Wﬂmﬁmaﬁwaa%%ﬁaﬁmw%.
(4) @& Wg 19 1% d19 grar 2

Which of the following types of power is most likely to be negatively
related to employee satisfaction and commitment 7

(1) Expert power (2) Reward power

(3)  Legitimate power (4] Coercive power

e & & FHEH FHriciy YirEaaT
(1) asms gifsg 2)  QRERRIIfa

(3) ST g (4) g srfyg

(1) Assertiveness (2)  Aggressiveness

[4) Team oricntation
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15.

16.

17.

;r;lwehic:l sampling technique does cach member of the population have
qual and independent chunce of being selected in the sample ?
(1} Stratified sampling |

(2) Simple random sampling without replacement

(3) All types of probability sampling

{4) Simple random sampiing with replacement

?hﬂaﬁrAqﬁnﬁfﬁﬁGﬁaw%qﬁzﬁ
e EPAR W%ﬂﬁﬁfﬁﬁﬂﬁmﬁ

(1) @Ra uforeg d

{2) aieeare Al g argfege SfreaT J
(3) & UEE & gere A H

(4) Wgﬂﬁﬂm@af@ﬁqﬁﬁuﬂﬁ

Who s_uggested that very similar physiological reactions are associ-
ated with a variety of emotions ?
(1) William James (2) Walter Cannon

(3) Robert Zajonc (4} Charles Darwin

feper U@ Per o5 Tl A STaRfRAe STgRd T
R & g @ ated € 7

(1) Taferam g (2) AT &

(3) TEE SeIh (4) =erE St

According to Freud, adults with a passive and submissive personality

marked by a childlike dependency demonstrate sign of :
(2) An inferiority complex

(1} An oral fixation
(4) An Oedipus complex

(3) Reaction formatting
wES b ﬁ%ﬁ@a&mﬁaﬁaﬂa@mﬁﬂﬁm—w
Cysiear @l & 3 S FA &

ATTH ﬁ?:mw (2) & AR

(4) anfeTm At
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18.

19.

20.

Which one of the following theories of personality is based on recip-
rocal determinism between person and environment ?

(1} Trait theory (2)  Social cognitive theory
(3)  Humanistic theory {4) Evolutionary theory

aﬁﬁﬁ%ﬁﬂﬁﬁﬁﬁﬁ@?ﬁﬁﬁﬁ?ﬂﬁﬁ@%%ﬁa
“IRERE MEiRar’ o3 aegifg 2 2

(1) sfe-Torrar (2) GHINTH-HsHIES e
(3) HAFIAERE e (4) TrpaEl faerg

Systematic desensitization is most useful in treating which of the
following ?

(1] Mania (2) Schizophrenia
(3) Multiple personality (4) Phobias

Waﬁﬁmwﬁwﬁﬁmwﬁmm%?
(1) == (2) A-fidGwar
(3) Ig-=afame (4) Saﬁﬁ[

If 1t is not possible to randomize not administer a pretest then wliag
would be the best choice of design ?

(1)  Solomon four-group design
(2) Analysis of Covariance (ANCOVA)
{3) Nonequivalent control group design

" (4) Static group design

B BT WY T 8 ey L
%%%ngm@?%fqﬁ&wmrmmaw

(1) s AR Sifiepey

(2) HE-FERoT forsdmor (TouTotfosiy oFon)
(3) TG Frafa @y erferpey

(4) s wE ety
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21.

22.

23.

24.

Which neurotransmitter in the brain is severely in parkinson's disease ?

(1) Serotonin (2) Dopamine

(3} Acetylcholine {(4) Glutamate
Wﬁﬂﬂﬁ%ﬁﬁqﬁqﬁmaﬁwmaaﬁ
(1) FfefE (2) S

(3) uRewhife (4) TgeM<

Which theory of social facilitation states that presence of others is
arousing and increases the tendency to perform dominant responses?

(1) Distraction conflict theory

(2} Diver theory

(3) Evaluation apprehension theory
{4) Selfl presentation theory

AT 1 AT G s #edl 8 (B Y IR
: %mmuﬁﬁm%mﬁqﬁ%ﬁww%f
(1) Fapdel gt (2) et R

(3) i ST RS (4) S-S s

Functional analysis is a therapy based on :
(1) Classical conditioning (2) Humanistic principles

{3) Operant conditioning (4) Psychodynamic principles

mﬁﬂm%@w%ﬁﬂq{aﬂuﬁﬁﬁw%?
(1) STE ST () AFEaEE ST

(3) Tepamrgd 1A (4) T RS
ctors on

The tendency to OVel estimate the impact of disposition fa
behaviours of other person is from.

(1) Self serving bias |
(2) Fundamental attribution error
]

3 Discounting principle
(4) Actor observes effect

10
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25.

26.

mwﬁﬁ%aamqvﬂq%ﬂwﬁmuﬁ%qmaﬂaﬁm@m
1 TgiT H T4 StrEr 2

(1) T-gyor sfeEy
2) Iﬁﬁr‘l&?jﬂﬁwg&
(3} g HH @ HErg

(4) HAl- SENHTHERAT TR

Humanistic psychology is most closely associated with which of the
following ?

(1) Empirically derived tests.
(2) Reciprocal determinism

(3) A positive self-concept

(4) An external locus of control,

Wﬁ%ﬁ%ﬁ%ﬁﬁ%mwﬁﬁaﬁm
g7

(1) =D W F YT ey

(2) grafis Fraege

(8] FHRIHE I Gy

(4) TR @ ity

Piaget referred to the process of modifying schemasg to fit reality as

Accommodation

Equilibration

-WWR&W@%W@ .
9T B R 3 gy B IR WERAT 23 75

(1) STgge (2) TERTTT
(3) warery (4) ARy

(1) Adaptation (2)
(3) Assimilation (4)

11
P.T.o,
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27.

28.

29.

The covariance between X au:d Y is 5 and the correlation is 0.5. If the
variance of X is 12 then whai would be the variance of Y ?

XUd Y & € eyl 5 9eqa-] 0.5 21 afe X & TE@T 12
T A Y ® 9EIOT e enm ?
(1) 8.33 (2) 14.40 (3) 2.89 (4) 10.00

We sometimes conform with a notice that it can help us win the

approval and acceptance we care. This is known as :
(1) Informational social influence

(2) Normative focus theory

(3)  Normative social influence

(4V  Public conformity

sy N7 - G} B T R 5 3gaed § A & 6 W
U @ SIS T i PRI o S St ¥ St e f

e fom O AT B gEE FE €
(1) GEAmEs Qs g6

(2) AT 0T S

(3) AFEHE HEISER T

(4) sty "aedal Adert

presented to subjects, they tend to remember

When a list of words 1s ' .
and at the end of the list ;more easily than

those at the beginning
those in the middle because of

(1) The primacy effect
(2) The scrial position cffect
(3) The priming process

(4) The rehcarsal
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SIS 1 STt T ue sre@aaﬁw%a‘ra@%?‘?‘f
gw%&ﬁﬁqmﬁﬁfﬁwﬁmw@%
| E

[\1) ST U9 & ey

(2) STTHHAD =T gwg § ey
(3} U uftkar & @y

(4) @Yy $ o

30. In a distribution with the same variance as normal distribution has a

I -
kurtosis greater than 3 then which of the following is true about that
distribution ?

(1) It has a fatter tails than normal distribution
(2) It has a thinner tails than normal distribution

(3) It has the same tai] fatness as the normal distribution since the
variances are the same.

31. Which of the follow;

phrenia ?
(1) H}-’peractivity (2) H allucinations
(3)  Social withdrawa] (4) Delusions

(B) A g @) wm

'3 P.To0.
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32.

33.

34.

If your research does NOT include a treatment or control group then
what type of research are you conducting ?

(1} Causal-comparative research

{2) Descriptive research

(3) Quasi-experimental research

(4) Experimental research
qﬁ&w%aﬂﬂﬁﬁrﬁwwﬁﬁﬁﬁmwaﬁqﬁaaﬁﬁﬁm
PR DR Bl Qe T TR § 7

(1) TR -eTIeTh Q1Y

(2) faaoneres sny
(3) IFF-UMEITE BT

(4) wAIfiEs B

Clildren's understanding of the way they perform cognitive tasks,
such as remembering, Jearning, and solving problems, is referred to
as

(Y Metacognition (2) Cognitive strategics

{3) Knowledge base (4) Automatic processing

) er-gaE (2) HETES R
(3) FEN (4) wEEicd FpATT

Where is the primary auditory cortex located ?
(2) Parietal lobes

(4) Frontal lobes

(1) Limbic cortex
(3) Temporal lobes

(1) JgaRger T & m%ﬁi
@) @ o @] =

14
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35.

36.

37.

Which process transfers information from sensory memory to short-
term memory ?

(1) Attention (2) Cognition

(3) Perception (4) Sensation

P WA G A wakE W@ A swer-mi w3
(1) saer (2) Hsr=

(3) H7EfieRToT (4) wHaear

If the eigenvalue of a factor is 4.5 and the total number of variables

included in factor analyses are 20 then which of the following is cor-
rect ?

(1) The first factor €xplains 4.5% of the total variance
(2) The first factor explains 45% of the total variance
{3) The first factor explains 22.5% of the total variance

(4) Variance explained by the first factor can not be determined
form the information provided.

A BREl B @y 4.5 HLH fafza =%
ﬁa@mzo%ﬁﬁw%ﬁ%gmﬁﬁ%?ﬁﬁmﬁ o
() I BB T I6GRT @7 4,59 25 ATET Far 3

Which of the following disorder is characte ized b S
comprehension ? r#eq by scverely impaireqd

(1) Wernicke's aphasia (2) Broca's aphasia

(3)  Alexia (4) Tactile aphasia

Frr & @ & o TET Sy
AR ferepfy (;ﬂ;am%aﬁ frgar 2 »

(3) ST==Teerqr 4) wF EB)151)20rSt

15
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38. Ac : s e _
According to "realistic social conflict theory” prejudices originate from :

39.

40.

(1) People's categorization into difierent groups
{2) perceived threat from other groups.

{3) Competition for recourses between groups.

(4) Feeling of superiority.

TR a2 R & sgar g@Ee @ S el #
(1) @t & faRr |yl 7§ @fieer 3

(2) =ZAT TE A gewtEE o A @aq o

(3) Hﬂ@ﬁﬁﬁ'ﬂmlﬁ%%ﬂlmﬁﬁﬁ

(4) Seg=mn W wEe |

What is the most serious threat to internal validity in nonequivalent

>

control groups design =

{1) Mortality (2) Testing
(3) Sclection (4} Maturation

; Wwaﬁwﬁmﬁmﬁw%mﬂaﬁmﬁ
e I

(1) = () TEET

(3) =T (4) SR

Which arca of the brain is involved in motor learning ?
(2) Hippocampus
(4) Mammilay bodies

fimes 6l B A Teayeh AT ¥ fafed BT B 7

1) e T (2) oA
(4) AR R

(1) Basal ganglia
(3) Thalamus

(3) GREL

i6
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Short Answer Questions

TY TR geT

Note: Attempt any five questions. Write answer in 150-200 words. Each

Ol.

02,

03.

04.

questions carries 16 marks. Answer each questions on separate page,
after writing Question Number,

%ﬁqﬁq&ﬁ%wﬁmln@zﬁqwaﬁrw150-zoos1a‘fﬁ
QST | I wgq 1661’3:%%%9@25993@@?3@3@@
9T HE& REHT g6 wY

Critically evaluate the Erikson's theory of psychosocial development.

Wﬁ%ﬁmﬁzﬁﬁﬁﬁm%mwww@ﬂwwi
qGA HISIT |

How scatter analysis of intelligence test Scores can provide diagnosti-
cally useful information ? Discuss.

ﬁﬁwwﬁwwmﬁw%ﬁmﬁmﬁm@
Mﬁwmwm%?ﬁaﬁaﬂﬁm

approaches to the study of Personality.

17
P.T.0,
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0S.

06.

G7.

08.

09.

10.

Describe th infc

e the reinforcement affect the -
- ol 3 itf =% o =
ship. ffect theory of interpersonal relation-

Faufaas anEdy § gawd qHEE ST @l goi SN |

Bring out the major differences between DSM-5 and DSM-IV.

Slou{olTo-5 Ud Stoudoudo-IV & Hea U o7l &l W= T |

De_:s{:r_ﬁ?c the concept of test validity and discuss its relationship with
reliability of test.

e B 3 e Ao A qun qaeeT @ e
5% gy $i fqae B |

Diffcrentiate between .‘:ampﬁng ard nnn—aampling errors and djS‘.
cuss how simple random sampling minimizes the sampling errors.

Wﬂ@%—%ﬁﬁ%%ﬁﬂﬁﬁﬁ%ﬂ%
ﬁramﬁwmﬁ%ﬁ@hqﬁwaﬁﬁmmw%t

Describe the steps involved in negotiation process during inter group

conflicts.
FH<-qYE Z<l & YT YT TGRar § ghafea =T ot
HIT

cience is useful in imple-

ihe knowledge of applicd behavioral s
entions ? Discuss.

menting organizational development interv

ﬂﬂ%ﬁtﬂfﬁ%ﬂ?%ﬁﬂ@ﬁﬁ-@gﬂﬂm@mﬁﬁﬁﬂéﬁ
%W@wﬁ’ﬁ%?ﬁ%#aﬁiﬁm

How

18 300
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Question No.

Page for Short Answer
9 " r

g STlE 3 R g
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Question No. Page for Short Answer
g e Wy Ity & e T
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Question No.

Page for Short Answer
999 H@&r

g ST F R ys
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yage for Short Answer

@y SatE & e T

Question No.
g HE&
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Question No, Page for Short Answer
9T 9e&gr

Y ST B R g
8 W

23
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